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Tén hoc phan: | F2-Ké toan quan trj 2
M4 hoc phan: | 233 71ACCT30182 S6 tin chi: | 2
Ma nhém I6p hoc phan: | 233 71ACCT30182 01
Hinh thic thi: Tric nghiém két hop Tw luan Thoi gian 1am bai: | 75 | phut
Thi sinh dwec tham khdo tai li¢u: Co [ Khong
Sinh vién duoc tham khao tai liéu gidy va file da dugc download vé may
Céch thirc ndp bai phan tw luan:
- SV g0 truc tiép trén khung tra 1oi caa hé théng thi hodc upload file excel/word
- KHONG DUQC PHEP UPLOAD FILE ANH.
I1. Cac yéu cau caa dé thi nhim dap wng CLO
(Phan nay phdi phdi hop véi thdng tin tir dé ciong chi tiét cua hoc phan)
Trong so L{iy div
. CLO .
Ky Hinh trong | ligudo
hiéu Ni dung CLO thic | yspn | Cauhei | Piemso | lwong
danh A thi so toi da murc
CLO . phan
913 | snh gis dat
(%) PLO/PI
) 2) 3) (4) 5) (6) )
0.4d/cau
Ap dung kién thuc dy Tréc Cau 123 (tong
b4o, du toan, tham dinh i 25% >l diém 8
CLOL | & lap ké hoach cho t6 Nghiem 45,6.7.8 cau la PI13.2
chtrec. 3.2d)
Tu luan 15% Caul.l 1d
, ‘ 0.4d/cau
Ly giai cac bién dong vé . Cau (tdng
chi phi, doanh thU, cac chi Tr"}C 10% 910.11 dlém 3
tiéu do luong hiéu qua Nghiém o A
CLO2 phuc vu cho kiém soat va ia;dl? P13.2
danh gia hiéu qua hoat - '
dong cua cac b phan. Tuluan | 15% Cauz2.l | 0.75d
T Cau 2.2 0.75d4
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Thuc hién 1ap ngén sach 0.4d/cau
mot cach doc 1ap cho Tric Cau (tong
doanh nghiép khéac nhau a 15% 121314 | diém 4
CLO3 Nghiém ° e cléeu s | PI8l
1.6d)
Tu luan 15% Cau 3 1d
Vén dung tu duy phan
CLO4 | Diénvaotuvanragquyet | a0 | 500 | cau12 | 054 | PI5L

dinh kinh doanh cho
doanh nghiép.

I11. Ngi dung cau hei thi
PHAN TRAC NGHIEM (15 cau — 6 diém- 0.4d/ciu)
Céaul
XYZ Co forecasts costs using the model y = a + bx. The gradient is $10. When y = $2,000
then x = 30.

What is the value of the intercept?

A. 1,700

B. 1,970

C. 1,990

D. 2,300
ANSWER: A

Cau 2
Which of the following is a feasible value for the correlation coefficient?

1. -0.95

2. 0

3. +1.01

4, +1
A. 1,2 and 3 only
B. 1and 2 only
C.3and 4 only
D.1,2,3and 4
ANSWER: A

Céu 3:

Monthly sales have been found to follow a linear trend of y = 8.9+2.4x, where y is the
number of items sold and x is the number of the month. Monthly deviations from the trend
have been calculated and follow an additive model. In month 10, the seasonal variation is
estimated to be plus 6.2. What is the forecast number of items to be sold in month 10?
A.39.1

B. 32.9

C. 26.7

D. 175

ANSWER: A

Cau 4:

Trang 2 /7




BM-003

If 2x = 10, Xy = 45, ¥x2 = 30, Xy2 = 400, 2xy = 100 and n = 10, what is the correlation
coefficient?

A. 0.875

B.-0.875

C.0.785

D. -0.785

ANSWER: A

Céau 5:

Which of the following not would be part of the capital expenditure budget?
A. Direct labor costs

B. Purchase of high-performance motor for existing machinery

C. Cost of expanding the factory

D. Purchase of land

ANSWER: A
Cau 6:
The following spreadsheet shows the calculation of a company’s profit:
A B C D E
1 Jan Feb Mar Apr
2 Sales 15,600 14,000 18,000 16,500
3  Costofsales 11,000 12,300 15,000 14,000
4 Gross profit 4,600 1,700 3,000 2,500
5 Expenses 1,500 720 1,200 1,300
6 Net profit 3,100 980 1,800 1,200

The formula =D2-D3 will give the contents of which cell?
A. D4

B. D5

C.D6

D None of these

ANSWER: A

Cau7

What is the effective annual rate of interest of 2.5% compounded every three months?
A. 10.38%

B. 7.69%

C. 10%

D. 1.077%

ANSWER: A

Cau 8

A project has an initial outflow of $35,000 followed by seven equal annual cash inflows,
commencing in one year’s time. The payback period is exactly 5 years. The cost of capital is
11% per year. What is the net present value of the project (to the nearest $)

A. $-2,016

B. $32,984

C. $23,560

D. $-11,440
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ANSWER: A

Cau9
The previous period records from a company are extracted and presented below:
Budget Actual

Production 2,000 units 2,100 units
Variable production overhead cost ~ $15,000 $16,000
Labour hours worked 5,000 5,200

Determine the variable production overhead expenditure variances for the previous period?
A. $400 Adverse

B. $400 Favourable

C. $385 Favourable

D. $385 Adverse

ANSWER: A

Cau 10
The previous period records from a company are extracted and presented below:
Budget Actual

Production 2,000 units 2,100 units
Variable production overhead cost  $15,000 $16,000
Labour hours worked 5,000 5,200

Determine the variable production overhead efficiency variances for the previous period?
A. $150 Favourable

B. $150 Adverse

C. $600 Favourable

D. $600 Adverse

ANSWER: A

Céu 11
A company purchased 5,700 kgs of material at a total cost of $22,800. The material price

variance was $1,140 favourable. What was the standard price per kg?
A. $4.2
B. $3.8
C.$3.0

D. $3.2
ANSWER: A

Céau 12

When preparing a material purchases budget, what is the quantity to be purchased?

A. Materials required for production — opening inventory of materials + closing inventory of
materials

B. Opening inventory of materials + closing inventory of materials — materials required for
production

C. Materials required for production + opening inventory of materials — closing inventory of
materials

D. Opening inventory of materials — materials required for production — closing inventory of
materials
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ANSWER: A

Cau 13

The following details have been extracted from the receivables collection records of A Co.
Invoices paid in the month after sale 60%

Invoices paid in the second month after sale  20%

Invoices paid in the third month after sale 18%
Bad debts 2%
Invoices are issued on the last day of each month.
Customers paying in the month after sale are entitled to deduct a 2% settlement discount.
Credit sales values for June to September are budgeted as follows.
June July August  September
$20,000 $30,000 $40,000 $35,000
What is the amount budgeted to be received from credit sales in September?
A. $33,120
B. $33,980
C. $33,600
D. $33,000
ANSWER: A

Cau 14

Product X has a standard direct material cost as follows.

5.5 kilograms of material Y at $8 per kilogram = $44 per unit of X.
During June, 560 units of X were manufactured, 3,500 kg of material were purchased for
$26,250, of which 3,200 kg were issued to production.

What are the material price variances for June?

A.$1,750 F

B. $1,750 A

C. 1,600 A

D. 1,600 F

ANSWER: A

Cau 15

Product X has a standard direct material cost as follows.

5.5 kilograms of material Y at $8 per kilogram = $44 per unit of X.
During June, 560 units of X were manufactured, 3,500 kg of material were purchased for
$26,250, of which 3,200 kg were issued to production.

What are the material usage variances for June?

A. $960 A

B. $960 F

C. $3,360 A

D. $3,360 F

ANSWER: A
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PHAN TU LUAN (3 cau- 4 diém)

Cau héi 1: (1.5 diém)
The following information relates to a three-year project.
Initial investment $800,000
Cash inflow Year 1 $400,000
Cash inflow Year 2 $300,000
Cash inflow Year 3 $240,000
Cost of capital Year 10%
Required:
1. What is the net present value of the project? (1d)
2. Should this project be done?(0.5d)

Cau héi 2: (1.5 diém)
A company uses variance analysis to control costs and revenues.
Information concerning sales is as follows:

Budgeted selling price $25 per unit
Budgeted sales units 8,000 units
Budgeted profit per unit $6 per unit
Actual sales revenue $192,000
Actual units sold 7,500 units
Required:

1. What is the sales volume profit variance? (0.75d)
2. What are the selling price variances? (0.75@d)

Cau héi 3: (1 diém)

A manufacturing company always carries finished goods inventory equal to 20% of the next
month's budgeted sales. Sales for the current month are 3,000 units and are budgeted to be
10% higher next month.

Required:
How many units will be produced in the current month?

PAP AN PHAN TU LUAN VA THANG PIEM

Phan cau héi Néi dung dap an Thang | Ghi
diém | chd
I. Tric nghiém 6.0
Caul-15 0.4d/
cau
1. Tw luan 4.0
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Caul 1.1 1d
Cash Discount factor Present
Time flow (10%) value
1 -800,000 1 -800,000
1 400,000 0.909 363,600
2 300,000 0.826 247,800
3 240,000 0.751 180,240
NPV (8,360)
0.5d 0.5d
1.2 The PV of cash inflows exceeds the PV of cash 0.5d
outflow by $-8,360 which mean that the project will loss
of $-8,360 after paying the cost of financing. It should
therefore not be undertaken.

Céau 2 2.1 The sale volume profit variances for June 0.75d
= (Q1-Q0)*(P0-C0) = (7500- 8000)*6=-3,000 (A)

2.2 The selling price variances for June 0.75d
= (P1-P0)*Q1 = (192000/7500-25)*7500= 4,500 (F)

Céu 3 The units will be produced in the current month = Sale + 1d
closing  inventory —  opening inventory =
3000+20%*(3000*1.1)-20%*3000=$3,060

biém tong | 10.0

Ngudi duyét dé

TS. Lé Phan Thanh Hoa

TP. Ho Chi Minh, ngay 20 thang 06 ndm 2024
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